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Q. Shivam invests a sum of ¥ 20,000 in an
Investment which returns annual interest rate of 5%
vl be the aﬁz?ugt
ear%a/)
Do 2,252.5
(2)R
1S 123,152.5
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/ﬁ 22.252.5
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Q. % 4000 is lent out at 4% compound

interest per annum for two years. Then
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Q. A sum of money doubles itself in 30

years with compound interest. It will

become 8 times In:-

[Practice Ques
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years/aw

£2) 60

years/aw

) 30

(3) 90
years/aw
(4) 120
years/aw
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Q. The difference between the compound
interest and the simple interest on a
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S22 [Q. A sum Qf mohey was borrowed and
255 repaid in two annual installments of % 1352
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Q. T gagrdr 3 a9t § ¥ 2000 TAT AT 91 §

% 2250 BT 1AL g, ATTUS Tohdg iy AT ol G g

ugts to ¥ 2000 in 3

S, ANeF of
uff“ls-("(; (1) 10%

12.5%
(3) 8%
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Q. What will be the ¢ mterest
on % 36000 at the rafe 5£20% for ﬁﬁ)
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Q. A sum of money becomes five
times in 9 years at compound

Interest, 4 how mag ears will it
beco %ame (1) 18
rate (2) 21
By 27
(4) 45
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Q. At what rate of Compound interest

annually :%lél a rq money become
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Q. If the interest on a sum of money at 10

Q. aT% Freft ST 10% AT st A
T IHT 190 T I

annum simple interest for 3 years is Rs. 12,000,

% per

E%‘”JVI;?QJ 2,603 Dﬁ&i{g{grest on the same
rthe same period at the same rate ?3) ZOZ
L), = —y'Cpod x 334 ,

: TR dor

STzt N\ 2 Yo x 33 13,204

p_ [ SINE 3) 3

e 240 13,240
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= fRaer ¥ T2 LT FT 1.96 AT BT AT gl Thg i
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Q. A sum of mon when invested at a certain

rate of compound interest per year, became 1.96
times the sum fAyes g@@;ﬁalurity after two )
years. What was the rate;o cqmpc;md mterz%g%

oo 13¢5y
> Jer (930%

e g T E
Q2 Yo
® 40%
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(c|||l>|oh & H GALST) o ST FqTLTI
TS, T ¥ 433,50 =99 2, Frrl‘l‘fé?r (T H) &

Q. If the difference between the compound
iInterest and simple interest at 17% on a sum of

money for 2 ed annually) is Rs_
433.50 , ther-the-sumAimEs.) is: (1)
O ‘ - 20,000
(2)
18,000
©)
12,000

(4)
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